Public Works Department

## TABULATION OF BIDS FOR:

Opened: 08/30/2018

## CROSS ALAMEDA TRAIL - RALPH APPEZZATO MEMORIAL PARKWAY + GAP No. P.

No. PW 03-18-11

Tabulated By: Maria Sanchez Checked By: Mirna Moreno

				Bidders Names and Address						
				McGuire & Hest	er		Hoseley Corporatio	n	Suarez & Munoz C	onstruction, Inc.
		2810 Harbor Ba		ırkway		F Pier Admimistration Bldg, Ste. 200 2490 American Ave.				
				Alameda, CA 94	,	,	San Francisco, CA		Hayward, CA 94545	
				Phone:			· ·		,	
				Fax:						
Item #	Item Description	Quantity	Unit	Unit Price		Amount	Unit Price	Amount	Unit Price	Amount
	F - 1' - P - 1 #4 (4000 M - 1 - 0)									
1	Funding Package #1 (1930 Main Street) Remove Concrete Curb	39	LF	\$14.00	\$	546.00	\$17.00	\$663.00	\$50.00	\$1,950.00
	Accessible Ramps	100	SF	\$40.00	\$	4,000.00	\$20.00	\$2,000.00	\$30.00	\$3.000.00
	Accessible Sign	100	EA	\$400.00	\$	400.00	\$750.00	\$750.00	\$200.00	\$200.00
	AC Pavement Grind	4,900	SF	\$3.00	\$	14.700.00	\$4.00	\$19,600.00	\$2.00	\$9,800.00
	Asphalt at Parking Lot	122	TON	\$260.00	\$	31,720.00	\$200.00	\$24,400.00	\$200.00	\$24,400.00
	6" Concrete Curb	39	LF	\$115.00	\$	4,485.00	\$200.00 \$51.00	\$1,989.00	\$200.00	\$7,800.00
	Install Parking Stripng (4")	370	SF	\$13.00	\$	4,465.00	\$13.00	\$4,810.00	\$12.00	\$4,440.00
<u> </u>	Funding Package #2 (FTA via BART)	370	Ji	ψ13.00	φ	4,010.00	ψ13.00	ψ+,010.00	ψ12.00	ψ+,+40.00
0		1	1.6	¢42,000,00	Φ	42 000 00	\$40,000,00	\$40,000,00	\$40,000,00	\$40,000,00
8	Mobilization (2.5% of Base Bid)	1	LS	\$43,000.00	\$	43,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
9	Traffic Control Temporary Construction Fencing	2,809	LS LF	\$53,400.16 \$7.00	\$	53,400.16 19,663.00	\$75,000.00 \$6.00	\$75,000.00 \$16,854.00	\$40,000.00 \$3.00	\$40,000.00 \$8,427.00
	Temporary Construction Fencing	2,809			\$ 6					
11	Install Project Signs	1	LS	\$1,500.00	\$ 6	1,500.00	\$5,000.00	\$5,000.00	\$1,300.00	\$1,300.00
12	Construction Staking	1	LS	\$20,000.00	\$	20,000.00	\$40,000.00	\$40,000.00	\$14,000.00	\$14,000.00
	Construction Surveying (CAP Verification)	1	LS	\$10,000.00	\$	10,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
14	SWPPP/Erosion Control		LS	\$70,000.00	\$	70,000.00	\$80,000.00	\$80,000.00	\$15,000.00	\$15,000.00
15	Clearing and Grubbing	117,868	SF	\$1.00	\$	117,868.00	\$0.90	\$106,081.20	\$1.50	\$176,802.00
16	Tree Removal	29	EA	\$1,000.00	\$	29,000.00	\$1,500.00	\$43,500.00	\$1,100.00	\$31,900.00
17	Tree Trimming	1	LS	\$24,000.00	\$	24,000.00	\$6,000.00	\$6,000.00	\$1,500.00	\$1,500.00
18	Remove Concrete Curb and Gutter	506	LF	\$18.00	\$	9,108.00	\$25.00	\$12,650.00	\$8.00	\$4,048.00
19	Remove Contrete Paving	2,874	SF	\$5.00	\$	14,370.00	\$6.00	\$17,244.00	\$3.00	\$8,622.00
20	Remove asphalt Concrete Paving	14,594	SF	\$1.10	\$	16,053.40	\$2.00	\$29,188.00	\$2.00	\$29,188.00
21	Salvage Signs	2	EA	\$155.00	\$	310.00	\$400.00	\$800.00	\$145.00	\$290.00
22	Tree Protection	1	LS EA	\$10,000.00	\$	10,000.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00
23	Remove Bollards	6		\$175.00	\$	1,050.00	\$400.00	\$2,400.00	\$500.00	\$3,000.00
24	Remove and Dispose of Existing Building	•	EA	\$38,000.00	\$	38,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
25 26	Remove Chain Link Fence	150	LF CY	\$11.00	\$	1,650.00	\$20.00	\$3,000.00	\$5.00	\$750.00
	Temporary Containment	1,480 155.719	SF	\$8.00		11,840.00	\$9.00	\$13,320.00	\$73.00	\$108,040.00
27	Geotextile Separation Barrier	,	SF	\$0.40 \$0.80	\$	62,287.60	\$0.40 \$1.50	\$62,287.60	\$0.80 \$0.30	\$124,575.20
	Reuse Existing Mulch	20,400	SF			16,320.00		\$30,600.00	\$0.30	\$6,120.00
29 30	Erosion Control Layer/Hydroseed	81,600	CY	\$0.70	\$	57,120.00 29,070.00	\$0.55 \$45.00	\$44,880.00 \$145,350.00	\$0.20 \$60.00	\$16,320.00 \$193,800.00
	Earthwork - Excavation (Cut to Burial)	3,230	SF	\$9.00 \$0.65	\$		\$45.00 \$1.25			
32	Full Depth Reclamation (Revocable) Fine Grading	59,700 59,700	SF	\$0.65 \$0.25	\$	38,805.00 14,925.00	\$1.25 \$1.10	\$74,625.00	\$0.60 \$2.00	\$35,820.00 \$119,400.00
	Cement Application (Revocable)	100	TON	\$0.25 \$245.00	\$	24,500.00	\$1.10 \$220.00	\$65,670.00 \$22,000.00	\$2.00 \$220.00	\$119,400.00
		9.600			\$	24,500.00				
34	Import and Place Clean Fill (Revocable) Class II Recycled Aggregate Base - 8" Bike &	9,000	CY	\$25.00	Ф	240,000.00	\$19.00	\$182,400.00	\$40.00	\$384,000.00
35	Jog, 4" Walking	2,000	TON	\$35.00	\$	70,000.00	\$35.00	\$70,000.00	\$50.00	\$100,000.00
36	Walking Path - 2" Asphalt	125	TON	\$185.00	\$	23,125.00	\$135.00	\$16,875.00	\$220.00	\$27,500.00
37	Jogging Path - 4" Decomposed Granite	203	TON	\$171.00	\$	34,713.00	\$110.00	\$22,330.00	\$200.00	\$40,600.00
	3" Asphalt at Intersections	50	TON	\$204.00	\$	10,200.00	\$175.00	\$8,750.00	\$500.00	\$25,000.00
	Concrete Paving (Plazas)	3,100	SF	\$12.00	\$	37,200.00	\$11.00	\$34,100.00	\$19.00	\$58,900.00
40	4" Concrete at Intersections & Access Paths	0	SF	\$0.00	\$	-	\$0.00	\$0.00	\$0.00	\$0.00
41	Bicycle Path - 3" Asphalt	435	TON	\$190.00	\$	82,650.00	\$110.00	\$47,850.00	\$500.00	\$217,500.00
	Aggregate Base Service Road for MH Access	94	TON	\$92.00	\$	8,648.00	\$28.00	\$2,632.00	\$60.00	\$5,640.00
	Pedestrian Curb Ramp	625	SF	\$26.00	\$	16,250.00	\$33.00	\$20,625.00	\$30.00	\$18,750.00

				Bidders Names and Address								
				McGuire & Hest	er		Hoseley Corporation Suarez & Munoz Construction, Inc.					
			2810 Harbor Ba	у Ра	rkway	96F Pier Admimistration Bldg, Ste. 200		2490 American Av	е.			
				Alameda, CA 94	4501	•	San Francisco, CA		Hayward, CA 94545			
				Phone:					_			
		1	_	Fax:	1			1				
Item #	Item Description	Quantity	Unit	Unit Price		Amount	Unit Price	Amount	Unit Price	Amount		
iteiii #	item bescription	Quantity	Offic	Office fice		Amount	Office	Amount	Office	Amount		
	2" by 4" CDF CAP (Installed Adjacent to Travel											
	Way)	41	CY	\$340.00	\$	13,940.00	\$220.00	\$9,020.00	\$450.00	\$18,450.00		
45	Bicycle Curb Ramp	457	SF	\$42.00	\$	19,194.00	\$23.00	\$10,511.00	\$30.00	\$13,710.00		
46	Concrete Curb and Gutter	813	LF	\$67.00	\$	54,471.00	\$45.00	\$36,585.00	\$75.00	\$60,975.00		
	Main Street Driveway	1	EA	\$5,000.00	\$	5,000.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00		
	Striping: 12" Solid White Line	30	LF	\$6.40	\$	192.00	\$7.00	\$210.00	\$6.00	\$180.00		
	Striping: 4" Solid Yellow	400	LF	\$2.00	\$	800.00	\$3.00	\$1,200.00	\$2.00	\$800.00		
	Striping: 4" Solid White	120	LF	\$2.00	\$	240.00	\$3.00	\$360.00	\$2.00	\$240.00		
	Striping: 4" Broken Yellow	1,350	LF	\$2.00	\$	2,700.00	\$2.00	\$2,700.00	\$2.00	\$2,700.00		
	Pavement Markings	55	EA	\$160.00	\$	8,800.00	\$120.00	\$6,600.00	\$120.00	\$6,600.00		
	New Signage	26	EA	\$500.00	\$	13,000.00	\$300.00	\$7,800.00	\$450.00	\$11,700.00		
	Landscape Soil Preparation (includes Compost					·						
		551	CY	\$95.00	\$	52,345.00	\$65.00	\$35,815.00	\$100.00	\$55,100.00		
		61	EA	\$300.00	\$	18,300.00	\$330.00	\$20,130.00	\$200.00	\$12,200.00		
	Concrete Band	20	LF	\$125.00	\$	2,500.00	\$85.00	\$1,700.00	\$70.00	\$1,400.00		
	Pavers at Emergency Access	475	SF	\$26.00	\$	12,350.00	\$40.00	\$19,000.00	\$50.00	\$23,750.00		
58	Brick Pavers - Mortar Set with Concrete Base	209	SF	\$32.00	\$	6,688.00	\$70.00	\$14,630.00	\$55.00	\$11,495.00		
	Boulder	50	TON	\$425.00	\$	21,250.00	\$550.00	\$27,500.00	\$330.00	\$16,500.00		
	Traffic Signs/Posts/Wayfinding Signage - not											
60	shown on plans	1	EA	\$600.00	\$	600.00	\$10,000.00	\$10,000.00	\$500.00	\$500.00		
61	Sheet Mulch (2 Layers of Recycled Cardbrd)	10,400	SF	\$0.80	\$	8,320.00	\$0.95	\$9,880.00	\$1.50	\$15,600.00		
	Recycled Wood Mulch (2 inch depth/10,400					•						
62	SF) (Revocable)	64	CY	\$120.00	\$	7,680.00	\$116.00	\$7,424.00	\$150.00	\$9,600.00		
63	Metal Header	40	LF	\$26.00	\$	1,040.00	\$12.00	\$480.00	\$25.00	\$1,000.00		
	Benches	3	EA	\$2,600.00	\$	7,800.00	\$2,000.00	\$6,000.00	\$2,600.00	\$7,800.00		
65	Bike Racks	3	EΑ	\$810.00	\$	2,430.00	\$315.00	\$945.00	\$0.00	\$0.00		
66	Tree Grate	1	EA	\$3,700.00	\$	3,700.00	\$2,900.00	\$2,900.00	\$2,000.00	\$2,000.00		
67	Landscape Maintenance (1 Year)	1	LS	\$65,000.00	\$	65,000.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00		
68	Slow Release Watering Bag - Trees	122	EA	\$69.00	\$	8,418.00	\$45.00	\$5,490.00	\$50.00	\$6,100.00		
	Adjust Manhole Lid (SS/SD) To Grade	6	EA	\$1,100.00	\$	6,600.00	\$820.00	\$4,920.00	\$2,000.00	\$12,000.00		
	Connect to Existing Storm System	16	EA	\$3,000.00	\$	48,000.00	\$1,200.00	\$19,200.00	\$1,500.00	\$24,000.00		
	Storm Drain Area Drain	25	EA	\$725.00	\$	18,125.00	\$400.00	\$10,000.00	\$500.00	\$12,500.00		
	Solid Drain Line, 6" PVC	576	LF	\$110.00	\$	63,360.00	\$62.00	\$35,712.00	\$50.00	\$28,800.00		
	Traffic Signal Modification (Third ST/RAMP)	1	LS	\$3,900.00	\$	3,900.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00		
	Traffic Signal Modification (Poggi ST/RAMP)	1	LS	\$13,300.00	\$	13,300.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00		
	Funding Package #3 (ACTC Discretionary)											
75	Mobilization (2.5% of Base Bid)	1	LS	\$45,000.00	\$	45,000.00	\$48,200.00	\$48,200.00	\$40,000.00	\$40,000.00		
	Traffic Control	1	LS	\$65,000.00	\$	65,000.00	\$85,000.00	\$85,000.00	\$40,000.00	\$40,000.00		
	Temporary Construction Fencing	2,429	LF	\$7.00	\$	17,003.00	\$6.00	\$14,574.00	\$3.00	\$7,287.00		
78		1	LS		\$	1,100.00	\$1,000.00	\$1,000.00	\$1,300.00	\$1,300.00		
79	Construction Staking	1	LS	\$20,000.00	\$	20,000.00	\$45,000.00	\$45,000.00	\$14,000.00	\$14,000.00		
	Construction Surveying (CAP Verification)	1	LS	\$10,000.00	\$	10,000.00	\$30,000.00	\$30,000.00	\$12,000.00	\$12,000.00		
		1	LS	\$50,000.00	_							
	SWPPP/Erosion Control	140.000	SF		\$	50,000.00	\$80,000.00	\$80,000.00	\$15,000.00	\$15,000.00		
	Clearing and Grubbing	149,388		\$0.90	\$	134,449.20	\$0.90	\$134,449.20	\$1.50	\$224,082.00		
	Tree Removal	3	EA	\$1,200.00	\$	3,600.00	\$1,200.00	\$3,600.00	\$1,100.00	\$3,300.00		
	Remove Concrete Curb and Gutter	450	LF	\$12.00	\$	5,400.00	\$25.00	\$11,250.00	\$8.00	\$3,600.00		
	Remove Contrete Paving	2,985	SF	\$3.00	\$	8,955.00	\$6.00	\$17,910.00	\$3.00	\$8,955.00		
86	Remove asphalt Concrete Paving	6,732	SF	\$3.00	\$	20,196.00	\$2.00	\$13,464.00	\$2.00	\$13,464.00		
87	Salvage Signs	8	EA	\$300.00	\$	2,400.00	\$180.00	\$1,440.00	\$145.00	\$1,160.00		
	Remove Bollards	18	EA	\$150.00	\$	2,700.00	\$400.00	\$7,200.00	\$500.00	\$9,000.00		

				Bidders Names and Address							
			McGuire & Hest			Hoseley Corporation Suarez & Munoz Construction, Inc.					
				2810 Harbor Ba			96F Pier Admimistr	ation Bldg, Ste. 200			
				Alameda, CA 94	4501		San Francisco, CA	94124	Hayward, CA 94545		
				Phone:							
		1	ı	Fax:	1						
Item #	Item Description	Quantity	Unit	Unit Price		Amount	Unit Price	Amount	Unit Price	Amount	
	Demolish Existing Light Pole Bases & CAP			1							
89	Electrical	1	LS	\$6,400.00	\$	6,400.00	\$9,500.00	\$9,500.00	\$9,000.00	\$9,000.00	
90	Temporary Containment	1,480	CY	\$7.40	\$	10,952.00	\$8.00	\$11,840.00	\$73.00	\$108,040.00	
91	Geotextile Separation Barrier	143,740	SF	\$0.35	\$	50,309.00	\$0.35	\$50,309.00	\$0.80	\$114,992.00	
	Reuse Existing Mulch	21,100	SF	\$0.70	\$	14,770.00	\$0.90	\$18,990.00	\$0.30	\$6,330.00	
93	Erosion Control Layer/Hydroseed	84,410	SF	\$0.70	\$	59,087.00	\$0.55	\$46,425.50	\$0.20	\$16,882.00	
	Earthwork - Excavation (Cut to Burial)	2,200	CY	\$14.00	\$	30,800.00	\$45.00	\$99,000.00	\$60.00	\$132,000.00	
95	Full Depth Reclamation (Revocable)	56,800	SF	\$0.70	\$	39,760.00	\$0.86	\$48,848.00	\$0.60	\$34,080.00	
	Fine Grading	56,800	SF	\$0.20	\$	11,360.00	\$1.10	\$62,480.00	\$2.00	\$113,600.00	
97	Cement Application (Revocable)	100	TON	\$245.00	\$	24,500.00	\$220.00	\$22,000.00	\$220.00	\$22,000.00	
98	Import and Place Clean Fill (Revocable)	3,400	CY	\$32.00	\$	108,800.00	\$52.00	\$176,800.00	\$40.00	\$136,000.00	
	Class II Recycled Aggregate Base - 8" Bike										
99	& Jog, 4" Walking	2,450	TON	\$32.00	\$	78,400.00	\$25.00	\$61,250.00	\$50.00	\$122,500.00	
100	Walking Path - 2" Asphalt	160	TON	\$205.00	\$	32,800.00	\$120.00	\$19,200.00	\$220.00	\$35,200.00	
101	Jogging Path - 4" Decomposed Granite	262	TON	\$153.00	\$	40,086.00	\$120.00	\$31,440.00	\$200.00	\$52,400.00	
102	3" Asphalt at Intersections	11	TON	\$216.00	\$	2,376.00	\$180.00	\$1,980.00	\$500.00	\$5,500.00	
103	Concrete Paving (Plazas)	5,500	SF	\$25.00	\$	137,500.00	\$10.00	\$55,000.00	\$19.00	\$104,500.00	
	4" Concrete at Intersections & Access Paths	0	SF	\$0.00	\$	-	\$0.00	\$0.00	\$0.00	\$0.00	
105	Bicycle Path - 3" Asphalt	580	TON	\$108.00	\$	62,640.00	\$108.00	\$62,640.00	\$375.00	\$217,500.00	
106	Aggregate Base Service Road for MH Access	90	TON	\$91.00	\$	8,190.00	\$30.00	\$2,700.00	\$60.00	\$5,400.00	
107	Pedestrian Curb Ramp	310	SF	\$60.00	\$	18,600.00	\$75.00	\$23,250.00	\$30.00	\$9,300.00	
	2" by 4' CDF CAP (Installed Adjacent to Travel										
	Way)	55	CY	\$325.00	\$	17,875.00	\$220.00	\$12,100.00	\$450.00	\$24,750.00	
	Bicycle Curb Ramp	254	SF	\$16.66	\$	4,231.64	\$21.00	\$5,334.00	\$30.00	\$7,620.00	
	Concrete Curb and Gutter	88	LF	\$125.00	\$	11,000.00	\$45.00	\$3,960.00	\$75.00	\$6,600.00	
	Striping: 12" Solid White Line	120	LF	\$5.50	\$	660.00	\$7.00	\$840.00	\$6.00	\$720.00	
	Striping: 4" Solid Yellow	567	LF	\$2.00	\$	1,134.00	\$3.00	\$1,701.00	\$2.00	\$1,134.00	
	Striping: 4" Solid White	690	LF	\$2.00	\$	1,380.00	\$3.00	\$2,070.00	\$2.00	\$1,380.00	
114	Striping: 4" Broken Yellow	1,440	LF	\$2.00	\$	2,880.00	\$2.00	\$2,880.00	\$2.00	\$2,880.00	
	Striping: 6" Dotted White	300	LF	\$3.00	\$	900.00	\$3.00	\$900.00	\$3.00	\$900.00	
	Striping: 6" Solid White Line	1,200	LF	\$1.50	\$	1,800.00	\$11.40	\$13,680.00	\$3.00	\$3,600.00	
	Pavement Markings	101	EA	\$160.00	\$	16,160.00	\$120.00	\$12,120.00	\$120.00	\$12,120.00	
	New Signage	29	EA	\$500.00	\$	14,500.00	\$445.00	\$12,905.00	\$450.00	\$13,050.00	
	Green Thermoplastic Pavement Markings	240	SF	\$14.00	\$	3,360.00	\$20.00	\$4,800.00	\$13.00	\$3,120.00	
120	Irrigation (Webster Plaza)	1	LS	\$90,000.00	\$	90,000.00	\$120,000.00	\$120,000.00	\$70,000.00	\$70,000.00	
	Landscape Soil Preparation (includes										
	Compost at 6CY/1000SF at 95,200 SF)	571	CY	\$89.00	\$	50,819.00	\$65.00	\$37,115.00	\$100.00	\$57,100.00	
	Shrubs 1 Gallon	538	EA	\$16.00	\$	8,608.00	\$15.00	\$8,070.00	\$15.00	\$8,070.00	
	Tree - 15 Gallon	71	EA	\$265.00	\$	18,815.00	\$300.00	\$21,300.00	\$200.00	\$14,200.00	
	Concrete Seat Walls	37	CY	\$2,500.00	\$	92,500.00	\$1,900.00	\$70,300.00	\$1,400.00	\$51,800.00	
	Concrete Band	56	LF	\$68.00	\$	3,808.00	\$80.00	\$4,480.00	\$70.00	\$3,920.00	
	Brick Pavers - Sand Set	545	SF	\$19.00	\$	10,355.00	\$35.00	\$19,075.00	\$35.00	\$19,075.00	
		415	SF	\$31.00	\$	12,865.00	\$70.00	\$29,050.00	\$55.00	\$22,825.00	
128	Boulder To the Control of the Contro	29	TON	\$400.00	\$	11,600.00	\$500.00	\$14,500.00	\$330.00	\$9,570.00	
	Traffic Signs/Posts/Wayfinding Signage -										
129	not shown on plans	2	EA	\$600.00	\$	1,200.00	\$6,000.00	\$12,000.00	\$500.00	\$1,000.00	
130	Sheet Mulch (2 Layers of Recycled Cardbrd)	11,000	SF	\$1.00	\$	11,000.00	\$1.00	\$11,000.00	\$1.50	\$16,500.00	

				Bidders Names and Address							
				McGuire & Hest	er		Hoseley Corporation Suarez & Munoz Construction, Inc.				
				2810 Harbor Ba					2490 American Ave.		
				Alameda, CA 94	4501		San Francisco, CA 94124		Hayward, CA 9454	5	
				Phone: Fax:							
				ı ax.							
Item #	Item Description	Quantity	Unit	Unit Price		Amount	Unit Price	Amount	Unit Price	Amount	
	Recycled Wood Mulch (2 inch depth/11,000 SF) (Revocable)	68	CY	\$115.00	\$	7,820.00	\$116.00	\$7,888.00	\$150.00	\$10,200.00	
	Bioretention Area Rock Mulch (3" Deep,										
	300SF)	3	CY	\$700.00	\$	2,100.00	\$150.00	\$450.00	\$600.00	\$1,800.00	
	Metal Header	54	LF	\$27.00	\$	1,458.00	\$12.00	\$648.00	\$25.00	\$1,350.00	
	Benches	1	EA	\$2,500.00	\$	2,500.00	\$1,550.00	\$1,550.00	\$2,600.00	\$2,600.00	
135	Bike Racks	4	EA	\$800.00	\$	3,200.00	\$315.00	\$1,260.00	\$1,000.00	\$4,000.00	
	Relocate Bike Lockers	3	EA	\$1,800.00	\$	5,400.00	\$412.00	\$1,236.00	\$500.00	\$1,500.00	
	Landscape Maintenance (1 Year)	1	LS	\$48,300.00	\$	48,300.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00	
	Slow Release Watering Bag - Trees	86	EA	\$72.00	\$	6,192.00	\$76.00	\$6,536.00	\$50.00	\$4,300.00	
	Connect to Existing Storm System	18	EA	\$2,700.00	\$	48,600.00	\$1,200.00	\$21,600.00	\$1,500.00	\$27,000.00	
	Adjust Manhole Lid (SS/SD) To Grade	8	EA	\$1,300.00	\$	10,400.00	\$825.00	\$6,600.00	\$2,000.00	\$16,000.00	
	Storm Drain Area Drain	23	EA	\$800.00	\$	18,400.00	\$478.26	\$10,999.98	\$500.00	\$11,500.00	
	Storm Drain Cleanout	1	EA	\$700.00	\$	700.00	\$10,000.00	\$10,000.00	\$350.00	\$350.00	
	Solid Drain Line, 6" PVC	363	LF	\$106.00	\$	38,478.00	\$140.00	\$50,820.00	\$50.00	\$18,150.00	
	Perforated Drain Line, 6" PVC	32	LF	\$30.00	\$	960.00	\$114.00	\$3,648.00	\$50.00	\$1,600.00	
	Bioretention Soil	26	TON	\$159.00	\$	4,134.00	\$86.00	\$2,236.00	\$120.00	\$3,120.00	
	Class II AB, Permeable	22	TON	\$114.00	\$	2,508.00	\$114.00	\$2,508.00	\$160.00	\$3,520.00	
	(2) - 2" PVC Lighting Conduit	24	LF	\$107.00	\$	2,568.00	\$180.00	\$4,320.00	\$100.00	\$2,400.00	
	Electrical Pull Boxes	1	EA	\$320.00	\$	320.00	\$1,550.00	\$1,550.00	\$650.00	\$650.00	
	Remove Concrete Curb and Gutter	0	LF	\$0.00	\$	-	\$0.00	\$0.00	\$0.00	\$0.00	
	Relocation of Bus Stop Enclosure	1	LS	\$5,400.00	\$	5,400.00	\$12,000.00	\$12,000.00	\$3,000.00	\$3,000.00	
	Adjust Light Pole Grade	1	EA	\$8,000.00	\$	8,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	
	Relocate Trash Cans	2	EA	\$500.00	\$	1,000.00	\$600.00	\$1,200.00	\$400.00	\$800.00	
	Adjust Manholes to Grade	2	EA	\$1,100.00	\$	2,200.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00	
	Adjust Utility Box to Grade	2	EA	\$600.00	\$	1,200.00	\$450.00	\$900.00	\$500.00	\$1,000.00	
	Trees Removal	0	EA	\$0.00	\$	-	\$0.00	\$0.00	\$1,100.00	\$0.00	
	Concrete Curb and Gutter	140	LF	\$73.00	\$	10,220.00	\$45.00	\$6,300.00	\$75.00	\$10,500.00	
	New Signage	2	EA	\$450.00	\$	900.00	\$350.00	\$700.00	\$450.00	\$900.00	
	Retaining Curb	15	LF	\$132.00	\$	1,980.00	\$85.00	\$1,275.00	\$100.00	\$1,500.00	
203	Traffic Signal Modification (Fifth ST/RAMP)	1	LS	\$64,000.00	\$	64,000.00	\$75,000.00	\$75,000.00	\$71,000.00	\$71,000.00	
150	Funding Package #4 (No Grant Funding)	4	1.0	CO4 000 00	Φ.	04 000 00	<b>#05.000.00</b>	<b>#25.000.00</b>	£40,000,00	£40,000,00	
	Mobilization (2.5% of Base Bid)	1 000	LS LF	\$21,000.00	\$	21,000.00	\$35,000.00	\$35,000.00	\$10,000.00	\$10,000.00	
	Temporary Construction Fencing	1,028		\$7.00	\$	7,196.00	\$5.00 \$1.000.00	\$5,140.00	\$3.00	\$3,084.00	
	Install Project Signs	1	LS	\$1,100.00	\$	1,100.00	\$1,000.00	\$1,000.00	\$1,300.00	\$1,300.00	
	Construction Staking Erosion Control Layer/Hydroseed	1	LS SF	\$10,000.00		10,000.00 9,075.00	\$25,000.00	\$25,000.00	\$8,000.00	\$8,000.00	
		275	SF	\$33.00 \$17.00	\$		\$0.22	\$60.50 \$1.160.00	\$6.00 \$10.00	\$1,650.00 \$5,800.00	
-	Clearing and Grubbing (Landscape)	580 440	LF	\$17.00 \$18.00	\$	9,860.00	\$2.00	\$1,160.00	\$10.00		
-	Remove Concrete Curb and Gutter		SF	\$18.00 \$13.00	\$	7,920.00	\$24.00 \$11.00	\$10,560.00 \$18,150.00	\$8.00	\$3,520.00	
	Remove Concrete Curb (Median)	1,650		\$13.00	\$	21,450.00	\$11.00	\$18,150.00	\$8.00	\$13,200.00	
	Remove asphalt Concrete Paving	2,305	SF	\$6.00	\$	13,830.00 37,400.00	\$2.00 \$30,000.00	\$4,610.00	\$9.00	\$20,745.00	
	Remove Striping Salvage Newsstand	1	LS	\$37,400.00	\$			\$30,000.00	\$25,000.00 \$2,000.00	\$25,000.00	
	Tree Removal	2	LS EA	\$800.00		800.00	\$1,000.00 \$1,100.00	\$1,000.00		\$2,000.00	
		4		\$1,000.00	\$	2,000.00	\$1,100.00	\$2,200.00	\$1,100.00	\$2,200.00	
	Tree Protection	1	LS	\$1,000.00	\$	1,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	
	Relocate Irrigation Systems	150	LS	\$13,000.00	\$	13,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	
	Replace AC Road Section (12" Asphalt)	150	TON	\$260.00	\$	39,000.00	\$180.00	\$27,000.00	\$250.00	\$37,500.00	
1/4	New Concrete Sidewalk	3,695	SF	\$13.00	\$	48,035.00	\$16.00	\$59,120.00	\$15.00	\$55,425.00	

				Bidders Names and Address								
							Hoseley Corporation 96F Pier Admimistration Bldg, Ste. 200 San Francisco, CA 94124		Suarez & Munoz Construction, Inc. 2490 American Ave. Hayward, CA 94545			
Item i	Item Description	Quantity	Unit	Unit Price		Amount	Unit Price	Amount	Unit Price	Amount		
175	Concrete Median (Roadway Median)	175	SF	\$20.00	\$	3,500.00	\$26.00	\$4,550.00	\$20.00	\$3,500.00		
176	Retaining Curb	320	LF	\$202.00	\$	64,640.00	\$70.00	\$22,400.00	\$350.00	\$112,000.00		
177	Pedestrian Curb Ramp	440	SF	\$35.00	\$	15,400.00	\$48.00	\$21,120.00	\$30.00	\$13,200.00		
	Bicycle Curb Ramp	560	SF	\$17.00	\$	9,520.00	\$19.00	\$10,640.00	\$30.00	\$16,800.00		
	Concrete Curb and Gutter	360	LF	\$115.00	\$	41,400.00	\$45.00	\$16,200.00	\$75.00	\$27,000.00		
	Concrete Curb	120	LF	\$74.00	\$	8,880.00	\$75.00	\$9,000.00	\$50.00	\$6,000.00		
	Mountable Truck Apron	90	SF	\$60.00	\$	5,400.00	\$45.00	\$4,050.00	\$60.00	\$5,400.00		
	Commercial Driveway	780	SF	\$15.00	\$	11,700.00	\$16.00	\$12,480.00	\$25.00	\$19,500.00		
	48" High Lane Delineators	26	EA	\$192.00	\$	4,992.00	\$170.00	\$4,420.00	\$180.00	\$4,680.00		
	New Signage	11	EA	\$500.00	\$	5,500.00	\$300.00	\$3,300.00	\$450.00	\$4,950.00		
	6" Detectable Warning Strip	125	SF	\$125.00	\$	15,625.00	\$70.00	\$8,750.00	\$30.00	\$3,750.00		
	Truncated Domes	115	SF	\$39.00	\$	4,485.00	\$190.00	\$21,850.00	\$30.00	\$3,450.00		
	Striping: 24" Solid White Line	1,580	LF	\$6.00	\$	9,480.00	\$12.00	\$18,960.00	\$12.00	\$18,960.00		
	Striping: 12" Solid White Line	60	LF	\$5.00	\$	300.00	\$6.00	\$360.00	\$6.00	\$360.00		
	Striping: 4" Broken Yellow Line	650	LF	\$2.00	\$	1,300.00	\$2.00	\$1,300.00	\$2.00	\$1,300.00		
	Striping: 4" Broken White Line	600	LF	\$2.00	\$	1,200.00	\$2.00	\$1,200.00	\$2.00	\$1,200.00		
	Striping: 4" Solid White	530	LF	\$2.00	\$	1,060.00	\$3.00	\$1,590.00	\$2.00	\$1,060.00		
	Pavement Markers	66	EA	\$160.00	\$	10,560.00	\$870.00	\$57,420.00	\$120.00	\$7,920.00		
	Non Reflective Markers	40	EA	\$6.00	\$	240.00	\$24.00	\$960.00	\$4.00	\$160.00		
	Green Thermoplastic Pavement Markings	3,150	SF	\$14.00	\$	44,100.00	\$20.00	\$63,000.00	\$13.00	\$40,950.00		
	Drain Inlets	5	EA LF	\$4,000.00	\$	20,000.00	\$12,000.00	\$60,000.00	\$2,000.00	\$10,000.00		
	6" PVC Storm Drain Pipe	120	LF	\$52.00	\$	6,240.00	\$150.00	\$18,000.00	\$50.00	\$6,000.00 \$13,600.00		
	12" RCP Storm Drain Pipe	136		\$200.00	\$	27,200.00	\$300.00	\$40,800.00	\$100.00			
	Adjust Utility Box to Grade	3	EA EA	\$700.00 \$2,700.00	\$	1,400.00 8,100.00	\$700.00 \$1,200.00	\$1,400.00 \$3,600.00	\$500.00 \$1,500.00	\$1,000.00 \$4,500.00		
	Connect to Existing Storm System Traffic Signal Modification (Webster St/Atlantic Ave)	1	LS	\$135,000.00	\$	135,000.00	\$220,000.00	\$220,000.00	\$1,500.00	\$191,000.00		
	Traffic Signal Modification (Atlantic Ave/Constitution Way)	1	LS	\$139,000.00	\$	139,000.00	\$420,000.00	\$420,000.00	\$150,000.00	\$150,000.00		
202	Atlantic Avenue Rectangular Rapid Flashing Beacon (RRFB) Assembly	1	LS	\$43,000.00	\$	43,000.00	\$130,000.00	\$130,000.00	\$80,000.80	\$80,000.80		
	Bid Alternates											
	Bid Alt #1											
211	Import and Place Clean Fill	13,000	CY	\$27.00	\$	351,000.00	\$57.69	\$749,970.00	\$76.00	\$988,000.00		
	Bid Alt #2											
	Light Fixture, Pole and Foundation	42	EA	\$11,500.00	\$	483,000.00	\$9,750.00	\$409,500.00	\$12,000.00	\$504,000.00		
	1.5" PVC Lighting Conduit	4,135	LF	\$9.00	\$	37,215.00	\$11.00	\$45,485.00	\$12.00	\$49,620.00		
	Lighting In-Grade Pull Box	42	EA	\$525.00	\$	22,050.00	\$850.00	\$35,700.00	\$1,000.00	\$42,000.00		
	#10 THWN Conductors	4,660	LF	\$1.25	\$	5,825.00	\$3.00	\$13,980.00	\$1.00	\$4,660.00		
	#8 THWN Conductors	22,760	LF	\$1.75	\$	39,830.00	\$4.00	\$91,040.00	\$2.00	\$45,520.00		
209	Trenching	4,135	LF	\$27.00	\$	111,645.00	\$85.00	\$351,475.00	\$10.00	\$41,350.00		
210	Utility Pad Mount	1	EA	\$2,000.00	\$	2,000.00	\$19,000.00	\$19,000.00	\$12,000.00	\$12,000.00		
	TOTAL BAGE BIB II A II A COST :	<u> </u>					<b>.</b>	<b>#</b> • • • • • • • • • • • • • • • • • • •		<b>A</b>		
	TOTAL BASE BID: Items 1 through 203 incl	usive:	ļ	1	_	1,498,740.00	ļ	\$5,235,930.98		\$5,575,293.00		
	TOTAL ADD ALTERNATE BID #1	1	ļ			351,000.00		\$749,970.00		\$988,000.00		
	TOTAL ADD ALTERNATE BID #2				\$	701,565.00		\$966,180.00		\$699,150.00		
										Non-responsive		